Working with Negative Integers

1 Answer TRUE or FALSE for each of the following

a)-4>2 b) -2<-3 c) -1>1
d 2>-1 e) -11<-10 f) 3>-4
g) -8<11 h) -4>-3 ) 5<-4
j) -l16<-17 k) 1>-5 ) -9>-2
2 Complete the following using = < or >

a) -3[]2 b) 8 [ ] +8 c) 1[]-25

3 Write < or > between the following pairs of numbers to make a true statement

a) -52 25 b) 19 20

4 Arrange the following numbers in order from smallest to largest

a) -7,12,0,-9,7

b) 4,-4000. 40, 400

5 Which is the coldest day Bowral 4°C or Batlow —2°C

6 Greg was 11 under par and Jack was 3 under par who won the Golf Tournament

7 Which is the lower temperature?

a) —2°Cor2°C b) —5°Cor0°C

8 Arrange the following numbers in order from largest to smallest (descending)

a) 1,5-2,4

b) 0,-4,1,-1




Answers
1

a) False b) False c) False

d) True e) True f) True

g) True h) False 1) False

j) False k) True 1) False

2 a) -3>2 b) 8 = +8 c) 1>-25
3 a) -52<25 b) 19>-20

4 a) -9,-7,0,7,12
5 Batlow —2°C

6 Greg won

7 a) -2°C

8 a) 1,5,4,1,-2

b) —4000. 4, 40, 400

b) -5°C

b) 1: _1907 _49




